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Mission impossible... 

Your challenge should you choose to 

accept it, is to work out what time 

our secret agent (3.14) will arrive 

back at HQ.  

The flight between Heathrow and Greece 

is 3 hours and 30 minutes. However 

Greece is 3 hours ahead of us in the 

UK, because it is further East. 

3.14’s flight is scheduled for take 
off at 13:35 local time, and he thinks 

it will take him 45 minutes to go 

through customs and exit the airport.  

Trains for central London leave for 

London at 3, 23 and 43 minutes past 

the hour and will take 38 minutes.  

3.14 then needs to make a 7 minute 

walk from the train station to HQ. 

What is the earliest time that we can 

expect him to arrive?  
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